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#Please answer the next problem 1 and 2:

1.Consider the demand functions for a pure public good X, =12—-2P and X, =18-2P fortwo

consumers, where P is the price. Suppose the price of all other commodities equal 1. If this public
good is supplied by a perfectly competitive market with the marginal cost MC = X/2. Then,
(2)The équilibrium price and quantity of this public good is $4 and 10, respectively
(b)The equilibrium price and quantity of this public good is $5 and 12, respectively
(c)The equilibrium price and quantity of this public good is $5 and 10, respectively
(d)Consumer surplus for both consumers is $45
(e)The total surplus (the sum of consumer surplus and producer surplus) for this public good is
$75

2 If the pure public good in the last problem is instead provided in a private market, however,
Consumer 1 can become a free rider and not purchase any of the pure public good. Only Consumer
2 purchases it. Thus,

(2)The equilibrium price and quantity of this public good for Consumer 2 is $4.5 and
10, respectively

(b)Consumer 1°s consumer surplus is $33.75

(c)Consumer 2’s consumer surplus is $25

(d)Producer’s surplus is $25

(e)The total surplus for this public good is $74.25

3.Considering the following utility function representing a household’s preferences for

commodities X, and X,: U(X,,X,)=min(5X,,3X,) The household is facing prices A =31 -~
and F, =3$3, with a given level of income, I =$180. Thus,

(a)The optimal level of X, is 30

(b)The optimal level of X, is25

(c)The optimal level of X, is40

(d)The optimal level of X, is 50

(e)The budget line is X, +5.X, =180
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4. Two duopolistic firms facing the demand functions
¢,=18-2R+F ¢,=18-2F+H
With zero marginal costs. Thus, :

(a)The Bertrand equilibrium priceis £, =6

(b)The Bertrand equilibrium quantity is g, =10

(c)Maximizing joint profit, the priceis £, =8

(d)MaXimizing joint profit, the profit of firm 2 is #, = $81

(e)Maximizing joint profit, the profit of firm 2 is 7, = $72

5.Consider the following inverse input market demand and supply functions:
input demand P=10-0Q¢ ; inputsupply P=2+0Q"
(a)Economic rent of this input is $10
(b)Economic rent of this input is $8
(c)If now the input market supply curveis P =8 , then economic rent of this input is $2
(d)If now the input market supply curve is O° =4, then economic rent of this input is $24
(e)If now the input market supply curve is@° = 4, then economic rent of this input is $16

6.Suppose Chen’s Production-Possibility Curve (PPC) be given by the equation
5 _
i2_+ g =150 where fis the amount of fish and g the amount of grain she can obtain, depending on

the way she divides her time and effort. Think of g as plotted on the vertical axis and f as plotted on
the horizontal axis. Chen’s Marginal Rate of Substitution in Consumption (the absolute value of an
indifference curve) is MRS, = g/ f .Then,

(a)Chen’s consumptive optima: £= 10, g =50

(b)Chen’s consumptive optima: £ =10, g = 100

(c)If Chen is discovered by a world market in which P, =5 and F, =1, then her productive

optimum is =5, g =274
(d)If Chen is discovered by a world market in which P, =5 and 7, =1, then her productive

optimum is f=35, g=137.5

(e)If Chen is discovered by a world market in which P, =5 and F, =1, then her productive

optimum is f= 10, g =137.5

7.The market demand and supply functions for smart phone are:
demand Q¢ =26-2P ; supply Q°=-9+3P
When the government imposes a sales tax with a tax rate of t = 0.5. Associated with a sales tax,
(2)Consumer surplus is $36, and producer surplus is $6
{(b)Consumer surplus is $9, and producer surplus is $24
(c)Deadweight loss is $15, and the amount of taxes collected is $15
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(d)Deadweight loss is $10, and the amount of taxes collected is $30
(e)Deadweight loss is $30, and the amount of taxes collected is $30.

8.A monopoly with the long-run average cost function LAC and associated marginal cost

function LMC:
LAC=6-% . LMC=6-0
Where Q is the ouput. For the monopoly’s output the demand function is:
P
=4.5-—
o 2

(a)The full-cost pricing is P= $5, and the profit is $1.5

(b)If it’s in a fully contestable market, the monopoly rent is $1.5
(c)If it’s in a fully contestable market, the monopoly rent is 0
(d)The marginal cost pricing is P= $3, and the profit is 0

(e)The marginal cost pricing is P=$3, and the profit is -4.5

9.In a clothes market demand function 0 and monopoly’s short-run marginal cost function
SMC:

07 =26-2P ; ,SMC=3+QB

When it is in the perfectly price-discriminating monopoly.
(a)Consumer surplus is $24
(b)Producer surplus is $24
(c)Total surplus of the firm is $60
(d)Deadweight loss is $60
(e)Deadweight loss is $36

10.A firm facing the demand functions in two separated markets:
g=-2R+6 q,=18-2B+R

The short-run total cost function for this firm is SR7TC = % +(g,+4,)

And total output by the firm, 0 =g, +q,
(a)The profit maximized output for this firm is Q =4
(b)The price elasticity of demand at the optimal output ¢, is -2
(c)The price elasticity of demand at the optimal output ¢, is -4
(d)The optimal £ in the market 1 is higher than P, in the market 2
(e)The optimal A in the market 1is lower than P, in the market 2

11. A consumer spends his income on food and rent. he government places a $1 tax on food. To
restore the pre-tax consumption level of food the rebate paid to consumers will be smallest when
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(a)The own price elasticity of demand for food is 2, and the income elasticity of demand for
foodis 5

(b)The own price elasticity of demand for food is 5, and the income elasticity of demand for
foodis 5

(c)The own price elasticity of demand for food is 2, and the income elasticity of demand for

food is 10
(d)The own price elasticity of demand for food is 5, and the income elasticity of demand for

food is 10
(e)The own price elasticity of demand for food is 2, and the income elasticity of demand for

foodis 2

12.Consider the game below:

Moma’s Pop
Havea Create a
Sweepstakes Diet Soda
‘Weasel’s Pop Use -More Caffeine 5,5 10, -10
Use
Animal-Shaped 8, -8 | 0,0
Bottles

In the game in the payoff table, there is
(a)A mixed strategy equilibrium, and no other
(b)A mixed strategy and a pure strategy equilibrium
(c)A mixed strategy and two pure strategy equilibria
(d)A mixed strategy and four pure strategy equilibrium
(¢)No equilibrium in either mixed or pure strategies
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